



	Rem Number	Photo	Descriptions Aniar - Bulb A60 E27 Swatt 3000K - CRI 80 900Lumen - 0.8PF 180 - 204V BULB W80 x H108mm White / plastic (H0using) - Warranty 2years Certific 08	QTY	Unit Price	QTY /CTN	CTN fizze (cm)	CTN Volume	220		areasses	
,	AN30017-C			3,000	\$ 0.348	100	L32.5 x W32.5 x H48.5		GTNs 30	Total Volume 1.53554375 m²	8 1,044.00	
2	AN60018-C	9	Anar - Bulb A60 E27 Swett 6500K - CRI 80 900Lumen - 0.5PF 180 - 254V BULB W90 x H108mm White / plastic (Housing) - Warranty 2years Cartied CB	5.000	\$ 0.348	100	L32.5 x W32.5 x H48.5	0.051238125 mp	50	2.56140625 m²	\$ 1,740,00	
)	AN30019-C	9	Anar - Bulb A80 E27 12watt 3000K - CRI 80 1200Lumen - 0.5FF 180 - 264V BULB W00 x H118mm White / plastic (Housing) - Warranty 2years Certed 08	5,000	\$ 0.438	100	L32.5 x W32.5 x H48.5	5 0.051228125 m³ 50 2.5814062		2.58140625 n#	\$ 2,190.00	
100	AN30021-C	9	Aner - Bulb A65 E27 16wett 3000K - CRI 80 1500Lumen - 0.5PF 180 - 204V BULB W95 x H130mm White / plastic (Housing) - Warranty 2years Certed 08	2,000	\$ 0.506	100	L35 x W35 x H52.5	0.0543125 m²	20	1.28625 m²	\$1,012.00	
	AN80022-C	9	Aner - Bulb A65 E27 16wett 6500K - CRI 80 1500Lumen - 0.5PF 180 - 204V BULB W85 x H130mm White / plastic (Housing) - Warranty 2years Certest CB	5,000	\$ 0.508	100	L35 x W35 x H52,5	0.0543125 m²	50	3.215625 m²	\$ 2,530.00	
	AN30023-C	9	Anar - Bulb A70 E27 18wett 3000K - CRI 60 1800Luman - 0.5FF 180 - 204V BULB W70 x H135mm White / plastic (Housing) - Werrently 2years Certhol CB	3,000	\$ 0.753	100	L37.5 x W37.5 x H54.5	V37.5 x H54.5 0.076640625 r		2.29921875	s 2,259.00	
	AN60024-C	9	Aner - Bulb A70 E27 18wett 6500K - CRI 80 1800Lumen - 0.5PF 180 - 264V BULB W70 x H135mm White / plastic (Housing) - Warranty 2years Certed 08	5,000	\$ 0.753	100	L37.5 x W37.5 x H64.5	0.078640625 n	np 50	3.83203125	\$ 3,765.0	
	AY30029-C	9	Ayham - Bulb T140 E27 48watt 3000K - CRI 80 4500Lumen - 0.5PF 165 - 265V BULB W140 x H230mm White / plustic (Outside) - Silver / Auminum (Inside) - Warranty 2years ken Ca	500	\$3.16	ð	L59.2 x W30.2 x H26	0.04648384 m	p 63	2.90524 m ^p \$ 1.59		
	AY80030-C	9	Ayham - Bulb T140 E27 48watt 6500K - CRI 80 4500Lumen - 0.5PF 165 - 265V BULB W140 x H230mm Write / plastic (Outside) - Silver / Aluminum (Instide) - Warranty 2years Non CB	2,000	\$3.18	8	L59.2 x W30.2 x H26	0.04648364 m ^e		0 11.52096 m² \$ 5,38		
,	AZ30009 (RFE-0290A)	•	Azhar - Bulb C35 E14 4watt 3000K - CRI 80 480Lurhen - 0.5PF 220 - 240V Candle Bulb W35 x H98mm transparent / Glass (Housing) - 14g - Warranty 2years Certike C8	2,000	\$0.6	100	L42 x W21.5 x H24	0.021672 m ^a	20	0.43344 m	\$ 1,200.0	



Signature

= = 1 = de. = 1601





1	# Rem Number	Photo	Descriptions	atv	Unit Price	GTY	CTN Stan (orn)	CTN Volume	- T	-	Philippin
1	1 AZ60010 (PFE-0289A)	0	Azher - Bulb C35 E14 - 4welf 8000K - GRI 80 480Lumen - 0.5PF 230 - 240V Candle Bulb V055 x Httlemm transperent / Glass (Housing) - 1.4g - Warranfy Zywars Cwettel da	2.000		100	L42 x W21.5 x H24	0.021672 ms	CTNs 20	0.43344 m²	Amount \$ 1,200.00
12	AZ50012 (RFE-0291A)	Ú	Azhar - Bulb CA35 E14 - 4wett 6000K - GPI 80 480(Lumen - 0.5PF 220 - 240V Candle Bulb W35 x H120mm Iransparent / Glass (Housing) - 13g - Wartanty 2years Certiset dis	2,000	\$0.8	84	L42 x W21.5 x H28	0.025284 m ^a 31		0.790125 m²	\$1,200.00
13	A560140-A (RFE-0262A)		Anie - Ploodight: 30watt 6000K - CRI 70 2550Lumen - 0.8PF 178 - 265V Rectangular W185 x L158 x H25mm White / Aluminum (Housing) - transperent / Glass (Front Cover) - 485g - Warranty 2years Octobe (3)	300	\$ 3.768	20	L42 x W33.6 x H20.5	0.0289295 m#	15	0.433944 m²	\$1,130.40
14	SA30267-A (RFE-0160B.)	0	Sari - High Bay 150wett 3000K - CRI 70 12000Lumen - 0.9PF 175 - 265V LUMILEDS LED Round 0310 x H88mm BLACK / Aluminum (Housing) - 2100g - Wernanty Sysens Certies (SI	500	\$ 21.65	5	L40.5 x W32.2 x H32.7	0.04254407 m²	100	4.264407 mA	\$ 10,825.00
15	SA80266-A (RFE-01598.)	0	Sari - High Bay 150wett 6000K - CRI 70 12750Lumen - 0.9PF 175 - 295V LUMILEDS LED Abund 0310 x H88mm BLACK / Aluminum (Housing) - 2100g - Warranty Syssers Certified CRI	500	\$ 21.65	5	L40.5 x W32.2 x H32.7	0.04254407 m ^a	100	4.264407 m ^a	\$ 10,825.0
6	SA30299-A (RFE-01668.)	0	Sari - High Bay 200watt 3000K - CRI 70 16000Lumen - 0,987PF 175 - 265V LLMILEDS LED Round D360 x H93mm BLACK / Auminum (Housing) - 2874g - Warrenty 3years Certied 08	500	\$ 28.95	5	L42 x W97.2 x H97,7	0.05890248 m ⁴	100	5,890248 m²	\$ 14,475.0
7	5A60301-A (RFE-0165B.)	0	Sari - High Bay 200wett 6000K - CRI 70 17000Lumen - 0,989PF 175 - 265V LUMILEDS LED Round 0360 x H93mm BLACK / Atuminum Prousing) - 2874g - Warranty 3years Certified 08	700	\$ 28.95	5	L42 x W07.2 x H07.7	0.05890248 m ⁴	140	8.2463472 m²	\$ 20,265.0
8	NV40210	0	Nova - Recessed Panel Downlight. 8wett 4000K - CRI 80 520Lumen - 0.8PF 220 - 240V Round D115 x H34mm Cut out 100mm White / plastic (Housing) - 70g - Warrenty 2year Owtfiel On	2,000	\$ 0.96	80	L50.5 x W45.5 x H27.5	0.063188125 m	25	1.579703125 m	P \$ 1,920.0
9	TAF0245-B (PFE-0409.)		Taj - Shirip light 5050SMD 120Pos/1M Dual line 10wett/m RGB - CRI 70 215Lumen/m - 19F 220 - 240V Linear W16.5 x L50000 x H6mm White / FPCB (Body) - 7500g - Warranty 2years owthat db	200	\$ 53.67	1	L32 x W32 x H15	0.01536 m²	200	3.072 m²	\$ 10,734.0
0	TA60122-C (PFE-0167A	8	Taj - Strip light 2835SMD 180Pcs/1M 3Lines 7wstt/m 6000K - CRI 70 640Lumerv/m - 1PF 220 - 240V Linear W16 x L50000 x H8mm White / FPCB (Body) - 7500g - Wartanty 2years Owthol 08	1,300	\$ 38.25	1	L32 x W32 x H15	0.01536 m ³	1,300	19,968 m ^a	\$ 49,725,0

Stamp



Signature /2/





	tert Number	Photo	Descriptions	OTY	UHIT Prion	OTY ACTN	CTN Size (cm)	GTN Volume	OTNE	Total Volume	Amount
21	TAROTTE-C PRE-CODEA	8	Till - Strip light 26055MD 180F0X/FM Sulfriet Ewalthin Shun - CRI 70 71Lumbr/M - 119F 230 - 240V Linear W16 x L50000 x H6mm White / FPCB (Body) - 7500g - Warrandy System owner on	300	\$ 44,79		L32 x W32 x H15	0.01536 m²	300	4.608 m²	\$ 13,497,30
22	TASSTITUTE PRE-DESSA	8	Tal - Solo Tight (1803SMD 180Pcs/TM twett/m Green - CPI 70 860Lumer/m - 175 200 - 240V Lineir W16 x L S0000 x Hamm White / FFCB (Body) - 7500g - Warranh Oyenna	500	8 44,79	4	L32 x W32 x H15	0.01536 m²	300	4.608 m²	\$ 13,437.00
25	TARDISO-C PRE-COMMA	8	Tay - Sing fight processing inches/TM - Sing fight pad - CPI 10 SQLumerVm - HPF 200 - 24CM Limes Wiff x L50000 x HEITER Whiter / FPCE (Body) - 7500g - Warrandy Zyeans overset of	400	\$ 44.70	1	L32 x W32 x H15	0.01538 m²	400	6.144 m²	\$ 17.916.00
24	ES-0513A (SPE-0172A)	0	Plugs for strips without plug for S.A.	15,000	\$ 0.515	200	L28 x W50 x H30	0.042 m²	75	3.15 m²	\$ 7,725.00
				58.500					3,711	100 m ³	
7200			One Hundred Ninety Fight Th	-	-116	of Days	usp only				\$ 198,50

Stamp



Signature (a)





UPE - Dubel, Davie
Favor of Predicted as income building
Office no #109
Defer states
Tel: O1 2000016

Proforma Invoice

To: Ahmed Abed Al-Sheikh Trading Est.
Attention: Turky Ahmed Abed Al-Sheikh
Email: aaaisheikhest@gmail.com

Tel: +986126205171

From: MYGA TRADING LLC Sales: Kinan Kaddour

Email: kinan.k@atclighting.co

Tel:

PI Number: PI-010404210028

Date: 07/04/2021

Dear Sir, Kindly confirm below information.

Operation Dep Information

AHMED ABED AL-SHEIKH Trading Est. Turky Ahmed Abed Al-Sheikh KILO-08 old makkah road

Jeddah - Saudi Arabia Tel : +966 12 620 5171

Email: aaalsheikhest@gmail.com

Consignee Information

AHMED ABED AL-SHEIKH Trading Est. Turky Ahmed Abed Al-Sheikh KILO-08 old makkah road

Jeddah - Saudi Arabia Tel : +966 12 620 5171

Email: aaalsheikhest@gmail.com CR. NO.: 4030028786 VAT NO.: 300183671700003

Terms & Conditions

Prices

EXW | Ex Works

Payment

20% in advance,80% before delivery

Validity Delivery

15 Days 60 Days

Proforma Invoice Summary

Total Amount Total Volume \$ 198,504 99,71 m³

Prepared by

Kinan Kaddour

ĺ

Follow up your order



27589310





